Which of the following represents the graph of y = Ax? + Bx + C, in which A <0
and C > 0?
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For the simplified form of (927 + x + 7) — 2x(5x% + 11x + 7), what is the sum of all
the coetficients?




Answers
@ »

If A < 0, then the vertex of the graph must represent the highest point (maximum y
value). Also, if C > 0, then the graph must intersect the y-axis above (0, 0).

@ The correct answer is — 29. (9 +x + 7) — 2x(5:2 + 11+ 7) = Ox* + x + 7 — 104 — 222
Cl4x) =18 —222—13x+ 7. Then—1-22 — 13 + 7=—29.



